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A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 c¢cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 339 m/s
(3) 300 m/s
(4) 350 m/s

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller

(2) 5 times greater
(3) equal

(4) 10 times greater

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2ms

2) ms
3) 1s
4) 2s

The electrostatic force between the metal plates

of an isolated parallel plate capacitor C having a

charge Q and area A, is

(1) independent of the distance between the
plates.

(2) linearly proportional to the distance
between the plates.

(3) inversely proportional to the distance
between the plates.

(4) proportional to the square root of the
distance between the plates.

MRS IPIONQ, WRTRN  GVOIBRBELO 20T TS
BR0ITY HUBOIRENATI. 200 TN LIATT WL
I level ) m9FouT NI, Beomersd
BRBWBTNG. B8R tVFg 27°C I, 20 cm [T
73 em 3o GVBRYY, 2.05TF0TT 2.0 SRFTEINTY
PUOEVBRBRNG. F@ FRD w38 320 Hz oI,
27°C 3 mvadd 3wad Ben

(1) 330m/s
(2) 339 m/s
(3) 300 m/s
(4) 350 m/s

ATZONYT 20T ASER°, h T=, wowdeod womd
@ £ &3 [}
TRTRT 3By wow Woeeyd B8 AT 368 E 39,
VDT, BN AT FEPT TOBRTIY, }TTONOR,
Q) DTG, ATICNYT 2,080 FpewRa's) @ h
SR, vow BRTE WP WRORPTRBIONG. e
WeFNT TRIOR BReDE InITN Rty VeSS
TR0

(1) 38
2 5 a’@,aow ézﬁaw
3) =

(4) 10 ﬁ%ﬁz&bw

2,003 EREVBIR) ATR), HBTVTI FIBE RTH/A Feed
THFORNT 0By T FBogemoNn TTF Bong wortineddnod
T00T By LoT WORFS Tord WG ASRoE 5 m
BROTE, Srewsd Mool ﬁeﬁméﬁr@ 20 m/s? =nd.
03T BOTRCOTT FToO 9HOIN

(1) 2ms
(2) ms
3) 1s
4) 2s

55363 Q RWIBY DRCEF A QTIW WOTD 2,08 ARIN03T
7008 C 3 dpems Fone SEODS WO AT Wy

(1) FosnY FROIT BRTDOT BFoBTNG.
(2)  Secdsn FosHY SBORT BRTE LROTEODHNGS.
(3)  PUBRY SRV BRTE DLREDICOTNG.
(4)  PoBNRY SRV TRTIT INFRWROE,
3303 0DTONT.
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Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q

(2) 25Q
(3) 500Q
(4) 250Q

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from
(1) the current source
(2) the magnetic field

(3) the induced electric field due to the
changing magnetic field

(4) the lattice structure of the material of the
rod

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

1) 079W
(2) 043W
3 113W
4) 274W

A metallic rod of mass
0-5 kg m’ s lying horizontally on a smooth

inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

1 714A
(2) 598A
(3) 11-32A
(4) 1476 A

J

2,000 BORT TV TROBRENETE AT
Reg Jodo 5 divimA =8 Spedees 3eg 3 (Spedod
BOLY/ 200 Jpeden e.-a?gsojaéé) 20 div/V =338

M,ORBREITTS BREGH)
(1) 40Q

(2) 25Q

(3) 500Q

(4) 250Q

2O DWTPBE FING IRW  word  Fowen

BORTOSECD ATIRY ©OWTON VBEANG.  DTWT0BE

DWTR) BEmodRLd TTORATIN, BOIRTI0S0T FT

33%808 Fe8000 WBoewt BROIYORTT. $B00m ITW

MOTOTFRF T VeI BOIBY, VBN, T, WRWLO

WezoNTO FOARY) FENT CINRTOT 23IT

(1) BT Bows &Swo

(2) 208 g,

(3)  WTRTWEIoTPMIETOT
0 ATT §eT,

(4) RO WA weFT TEI

20 mH o3 cotd FHeos, 100 pF 3 2,000 508 @083

50 Q 3 om0 dfaezﬁ%n’%fﬁgl emf, V=10sin 314 t 3

FOZFEB00T  YLOENRT

2,030 @%déc Beed  pe@moDY  FedTIIRGT,
DRTOBOT, GV0ERT RO THD)

1) 079W

(2) 043W

3 113W

4) 274W

woRd BT GV3E 098 0-5 kg m™T 2T 20w SRR
RRBOI) gewg 30° BReITY, womd wITeT PHoed
3eHTIODIRFANT. &8 TFOD [T AT
BOTRI), TOY WOROE FBOHRNG.  ©ow) BT,
ogges, Fedes 025 T RBEFATS.  Aewdoddmy
RTOORLD WTETY FOT VT BT

(1) 714A
(2) 598A
3 11-32A
(4) 1476 A
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9. A carbon resistor of (47 + 4:7) kQ is to be marked |9, (47 £ 4'7) kQ B 0ot DUFs  SRegdn wed 3ed
with rings of different colours for its LERLR  GoMITRTR) =BT B3 BoRBRAINRE
. . . . ) 2
identification. The colour code sequence will be RRBIRREEDAS. 533 o rarte 2o8e3 33> 8 FNTIT
(1) Violet — Yellow — Orange — Silver (1) ede - R0 - B30 - 20T°

g
(2) Yellow — Violet — Orange — Silver (2) IO - 3e3F - 3RO - 2T
(3) Green — Orange — Violet — Gold (3) 3D - Fexd - e - Ry,
(4) Yellow — Green — Violet — Gold (4) =90 - DA - oY - nRew),
’ ) , 10.  ‘n’ 3O TTENE 2,000 Moo, ©,80300t338 B3 ‘R’ AT

10. A set of ‘n 'equal.res1stors, of value ‘R’ each, are Ry 0208dned R 203 emf, B’ 233 108
connected in series to a battery of emf ‘E’ and < =
. . D . 3030 ¥R Jerd BeeEsd SRR IRT TS
internal resistance ‘R’. The current drawn is I. > 3
Now, the ‘n’ resistors are connected in parallel to ZFweaay I ond. s ‘n d@edﬁ@dg{ ¥T RT3 e
the same battery. Then the current drawn from ARBR0BT WRBE BRREN TET DT Bemy) 10 1
battery becomes 10 I. The value of ‘n’ is BNTOINTT ‘1’ T L3300
(1 10 (1) 10
@ 11 @ 1
3 9 3 9

(4) 20
@ 20 11, S3oomdn 0 Fogine ARCew EeEndd (T

11. A battery consists of a variable number ‘n’ of ©030TARE T’ moédad) TROQTT womd msé,sésel
identical cells (having internal resistance o’ Jeed  HemEEoNg,  FeOT.  wEboD 33@7@:%
each) which are connected in series. The PUFIBRF W RATIRANG BBy DT Bewmnsy, |
terminals of the battery are short-circuited and 20T BFERREING. 83 IR eRTOT 0dnm FFod 1
the current I is measured. Which of the graphs 030 1 IBAT BOOINT BOLOTHRD BP0
shows the correct relationship between I and n ? b

1
I —
— @ 1
@ 1
I O —n
0] —n
I I
o |
@) f - @ L
o) —n
o) —n
I I
(3) T
@ ! /
O —n
O —n
I I
y !
@ ! / @
O —n
O —n
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12,

13.

14.

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

1) 1-8mm

(2) 1'9mm

3) 1:7mm

(4) 2 1mm

An astronomical refracting telescope will have

large angular magnification and high angular

resolution, when it has an objective lens of

(1) small focal length and large diameter

(2) large focal length and small diameter

(3) small focal length and small diameter

(4) large focal length and large diameter

Unpolarised light is incident from air on a plane

surface of a material of refractive index ‘W. At a

particular angle of incidence 4, it is found that

the reflected and refracted rays are

perpendicular to each other. Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(2) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(3) i=tan! (EJ
u

(4) i=sin' (lJ
n

12.

13.

14.

odona  AEhRIeR TOIRENTE), AFORIRNS IBDT
2038 d 030 2 mm, WD 3T BTomeosT A R
5896 A =3y D I3 achroans @0 <ed
100 cm ©33, 2,00 RS 30D ©wnwwy) 0:20° DHowd
Bom> wold, HowNY Fnedead wRozI 0-21° 1’
TegRen (wle Ak @08 D 3000d) wHoEE SRt
eFonoRNY 2080

(1) 1-8mm
(2) 19mm
3 1'7mm
(4) 2 1mm

2,000 DRy [YePRT BROTIFTY TWE Beeeodd
TEES T 90eg, Breeecdd BFITEd BROBLO LT AT
RORRTRY

(1) 3@ Jond Ted [ BT 97

(2) P onsd BT W= TRR 3

(8)  3a Borad BRT 0= RN W3

(4) TS Aonsd BRT BB T Wy

38,033 ZRe08 W ABOT 2,080 AR WA e

Bed eDTOL WEEK) Y BRTTOT
STRORRVRT. .00 AOFF S8 83 T BY, FePd
ENSI) T eIBInR0B 33earieh 2.0TBROTD

©OWERNTZBIRTT, 83 BT FINT Cdeas 503080
TOOIRAT

(1) ZeFPd3 o¥98> HOFTeReoR ©TT AW
ROTP) wTE ReVAE FBLTE BXR0BTHNTOZ

(2) BEPOZ W PRI KRB wWET AWTE
ROTP) STRBRRVAT FRIE ©0wmdNTIZE

(3) i=tan ! (EJ
n

4 i=sin’ (lJ
n
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15.

16.

17.

18.

An em wave is propagating in a medium with a
velocity V = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) + z direction

(3) —xdirection

(4) -y direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 45°
(3) zero
(4) 30°

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm away from the mirror

(2) 36 cm away from the mirror

(3) 36 cm towards the mirror

(4) 30 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0138H
(2) 13888 H
(3) 13-89H
(4) 1-389H

15.

16.

17.

18.

o wrEEEY, Vo= Vi snge wom
NTT T80 93030 T TOTTMIET. 33
DBTF080H  @S0H TS GoBnRedE  AWT
2R +y @B RROTRNEOIRGT, AEFTTSECD
oD FBYF $otintdE 5208 g o HIVQII

(1) -1z @%ﬁﬁ@m
2 +z @iﬁ@m
3) -x @%ﬁﬁ@q

(4) -y os3Q

Re3p BRI BgeRDI w08 V2 8 Bekpa e’
30° =nd. 2077 08 SIS BRRRTOT B3
SHess Boed MY, uodﬁg{ we}mﬁi BB N,
DERoW  WHeRI  Woed QoB wFTederoD  wIFFI)
TIPS Bevd BIedy FF 98 TFRY, LoLBoRTS.
(R0T° RR9RT Boed 208 TEFOS BeoDH So=T)
8023 Te3BT R0edT ST B

(1) 60°
@) 45°
3) 303,
@) 30°

15 cm FonedBRTITON 6080 AR THFp00s 40 cm
TROBY, 0ot SRBIOBERNT. word HWed WY,
TReeow 3R 20 cm BRT BRoBORWRR  BEWOWT
Fo080:Y

(1) oIFa00w 30 cm mdﬁé

(2) oIFa00m 36 cm mdﬁd

(3) TIFedT IER 36 cm N$IAT

(4) TBFed 3R 30 cm RPN

60 MA VT TTIZ, wotd ANFF HeTTEY,
mORTER 25 md  wodeed PES  T3odw
SeFOBARMIZTOTNTT 00T &eTFS030

(1) 0-138H
(2) 13888 H
(3) 13-89H
(4) 1389 H
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19.

20.

21.

22,

material, half-life is
10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the

For a radioactive

disintegration of 450 nuclei is

(1) 20
(2) 10
3 15
(4) 30

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1 1:1

2 1:-1
3 1:-2
4 2:-1

An electron of mass m with an initial velocity
;;:Voli\ (Vo > 0) enters an electric field
E = - EO/i\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

(1) *o
1+ °Bo ¢
mVO
@ Ay (1+ ey tj
mVvg
(3) A
@ At

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1) 1:2
2 1:4
3 2:1
4 4:1

19.

2,080 BeRC3ReN8Ted TS Slapigeverin)
10 E0ARPNT) TToPEY, 600 o, [RIEDIT
noTy, 450 SRIOPFND s Reded SHTd Bedys
DO (JWRNTY)

1 20
(2 10
(3) 15
(4) 30

WRETT WOWT BORWED BFODY, 10w DSTIFI 37,
33 3023 BT FOH SRS LI0TBY)

1 1:1
(2 1:-1
3 1:-2
4 2:-1

_)
21. m cvenod Ry TFowE Fer V= Voi (Vg > 0)

22,

207 wodb wgmy  oF 83 B = - Byl
(Eq = 30908 > 0) S0 30 t = 0 TBedTT, T,0053Y,
Lo VTS B-WN, TOMOITIPET, T t I, |TT
&-2397) 3omwo3TR)

(1) 7‘—0
1+ elo t
mVO
eEO
2 Ay | 1
( ) 0 [ + mVO tJ
3) %o
@) It

2,00 SReEE PUBH Roed 2V ST[IOD (ALY, V) TBRYY
efa’gg) zﬁ@ﬁ%ﬁaﬂ 35008 RPN, BRTARIT caeﬁ@@dr{@é
nogy Renmy vy ST3 @By SIeSRevas  wIYEs
BRSO BV IBwpoen, w PoFHnm TS IRIT
QITENT 1OFR Bery vy STS vy BBy vy BT
LID0TBR)

1 1
(2) 1:4
3 2:1
4) 4:1

12
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23.

24.

25.

In the combination of the following gates the
output Y can be written in terms of inputs A and
Bas

Ae
Be

> ¥
>

(1) A.B
2 A.B+A.B
3 A+B
4 A.B+A.B

In the circuit shown in the figure, the input
voltage V; is 20 V, Vgg = 0 and Vg = 0. The

1

values of I, I and P are given by

20V

(1) Ig=40uA, Io=10mA, =250

(2) Ig=25uA, Io=5mA, =200

(3) Ip=40pA, Io=5mA, f=125

(4) IB =20 MA, IC =5 mA, B =250

In a p-n junction diode, change in temperature
due to heating

(1) affects only reverse resistance
(2) affects only forward resistance

(3) affects the overall V — I characteristics of
p-n junction

(4) does not affect resistance of p-n junction

23.

24.

25.

mgsdﬁ@omﬁdad EReEFBoNE, TN A W33 B 1,
adnssY wgs&a 008 2BONWTITD

> v
=

‘;?:r

(D

(2)
3

40 A.B+A.B

>
W
+

gl

o

>

+B

WSTY, BPCOATOTW  ARFTWOBOTY, T Fpedees®
Vi =20 V, VBE =0 do@g VCE =0 eﬁdd, IB’ IC 5333
B R WISL g Qe

(1) Iy =40 pA,

Ic =10 mA, B =250

(2) Ig=25pA, Io=5mA, f=200

(3) IB =40 MA, IC =5 mA, B =125

4) Ig=20uA, Ig=5mA, f=250

p-n RO ReeEn A Feerdynood

SUFFOD R WHIRBEOI0

(1) %0330 BReGITS BnE, TOFFRD GVOLBRBEIZT

(2) B0 BReGFIT B3, HOTRO LLORIRBPTEIZE

(3) pnwETIV — I ogedss Boed Foeor
VOB WeBITI

(4)  p-n BWOFT'R TRexT oedS WO
PUOEDBNBORRE,
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26.

217.

28.

29.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity
(2) Moment of inertia
(3) Angular momentum

(4) Rotational kinetic energy

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Ky<Kg<Kg
(2) Kp>Kg>Kg
B) Kg>K,>Kg
4 Kp<Ky<Kq

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Walking on the ground would become more
difficult.
(3) ‘g’ on the Earth will not change.

(4) Time period of a simple pendulum on the
Earth would decrease.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K, : (K; + K,) for

the sphere is

(1) 7:10
(2 5:7
3 2:5
4) 10:7

26.

217.

28.

29.

QPFBTY, woRd PI RrewP) AZoZmoN I AN ©TT
Boed SR, wTT GBI ATNOR, KRR
EuBI), V0% InRweR, Aetwd B AT IRT BT
BORWPEY }TemNODE BTIT

(1) Bredecd &Sen
(2) x@= do%%
(8) Bpeod Rozsen

(4) 3o BOTTY

RRONFS AZ DEPF T FFONYTE RBT BOT BOSD
3woeen A, B 5083 C mgnedg Ky, Kp 83 K¢ nss.
AC o3» 903 ©gmenm), wWERY S Bredadimed SB
S0 AC 7 ©owmNBIERTS

(1) Kp<Kp<Kg

(2) Kp>Kg>Kg

3) Kp>Ky>Kq

4) Kp<Ky<Kq

BOBREOTY, BRODFS Tod0I0 10 &es), FRIWoCIRNCIIL
T2 ABEEF MOTZ, 40908 10 Bead BeRET, 81 NS
03RRI FOATRNE,

(1) ¢ BIN deagyamen eshdas.

(2) S0t Boed IBOXVF) T3, FRFTNIZH.

(3) R0 BoedT ‘g’ WTLRBBARNODL,

(4) weoood Hed WINF, SReIT DDRRQ

BPFCINMOTT.
WO TI  NROFY DD BOSHOB.  evdoeh

BOB00Y, 1oRd TODE) DTTVE WTH0Z0E ez (Ky)
exdedohe SO0 ¥essy (K,) SEe0gEeanad,
Reeeg K, : (K; + K,) wsomesy

(1 17:10
(2) 5:7
3) 2:5
(4) 10:7
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30.

31.

32.

33.

A small sphere of radius v’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

@ 1B
@ 1
3 rt
@ 1
A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 208:7dJ
(3) 845J
(4) 4224J

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 6F
@) F

(4) 4F

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %ko, the power radiated by it
becomes nP. The value of n is

1 3

4
@ 4
3
81
256
256
81

(3

4)

30.

31.

32.

33.

T SROTT 2.0 WY AW 3T JGOWOT AR, BRI,
WDIT. wBT  TOWOR AOROTRN T

QUBGOINMOZT. AW o8> [enesm) Twwen wwzehE
003 T3R) ISND o&m@déﬁ 9R0TEC0TITONTS

1 1
@ 1°
3
4 1
100°C =3y mm»s, w3@ (1013 x 105 Nm2)
YR 0-1 g & 2,080 BRG0 2edd, 100°C & eoxzan
TO[STITRNLd 54 WURD TP  WesnoEs.
em@ap%d mﬁwd g, 1671 cc T3, TRTOOD WO
30308 3§ 030

(1) 104:3J
(2) 2087dJ
(3) 8454J
(4) 4224J

2,08 TRZATOR 08Y 20T [RVIOT  BWRBWLSTS
TR BoENYS. BRTEE Bo30D LTS DyF A B8
NTBIOD B080H @B i3 Dor A ©nd. wo F
VTONTRR BRBOI BodoD WUTE[ Al SR, TWRTT,
DTRES BoS0RY ¥ & BegE Tueo Wesondss

wedai%
(1) 9F
2 6F
3 F
4 4F

2,000 3 TOD) BTorwoET k) I, WRFT P 202
row, daobr DITERAOAT. S g 3domodtae, Rog

X 4 o
TR, DITEMRTILY BN TP, FoODT  QUFIODTY
WBEORTT, DITENRRIRT TG FR nP oIRGS, n 3
[Aleves)

(D
(2)
@) ——

4) —
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34.

35.

36.

37.

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 1023 g K_l)
(1) 2508 x 10*K
(2) 8360x10*°K
(3) 1254x10*K
(4) 5016x10*K

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

v

T

B
A
0 —>T
w 2
@ 2
3) %
@ %

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 c¢m, the length of the open organ pipe is

(1) 13-2cm

(2) 8cm
(3) 16 cm
(4) 12-5cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 26:8%
(2) 20%

3) 126%
(4) 6:25%

34.

35.

36.

37.

Qe GUFFOID  SRETIE @RS rms  FenQow
PRACWOT LIRS RRYILD FOOSIRA LeFonozes
(B=03 :
RETB 9800 008 (m) = 276 x 10726 kg
WruRs 30908 ky = 138 x 1023 J K1)
(1) 2508x10*K
(2) 8360x10*K
3) 1254x10*K
4) 5016x10*K
JFon, 2pc0adOTOZ  VBEWNT @B ™, (V)
%3 (T) R3n FYobTOIE. SRUB) 43 A 0003 43
B 1 WTenooamen, @) SReE 30R w03) 080
0T 9[0T

\Y

T

o

%T

(1)

(2)

3

Wl | WM ot b

(4)

300 0D snrs®  SVINYT Boweried ©Eodn
DoWE  BD0oH  wRryT  Ivdod  TweSS  Bones
BReTT, WFY RNGE BDROH SNFT T g
20 cm =T33, 353 000 enes SYFD LUTH)

1) 132cm
(2) 8cm
(3) 16 cm
4) 12-5cm

Q00T FEFTED WO :OBY BOINT WOTONS IBO
FOONF VBFERT STIF VT Q0TS BFIOI0

(1) 26:8%
(2) 20%

3 125%
(4) 625%
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38.

39.

40.

41.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

I O

A

(D

2 D
5

-D
3 1

7
(4) ED

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ® about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) We>Wg>W,
(2) Wuo>Wg>Wgq
B) Wr>Wi>Wg
(4) Wg>W,>Wgq

Which one of the following statements is
incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Limiting value of static friction is directly
proportional to normal reaction.

(3) Coefficient of sliding
dimensions of length.

friction has

(4) Frictional force opposes the relative motion.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 05

(2) 025
(3) 04
(4) 08

38.

39.

40.

41.

T,00LITE, 259,08009F 2,080 F20DE) F0IT h 2FTHed
PRFE0LS THE BN 220 (WSTY, SredATR0Z)
AB = D 308 word ©ow BRI BOoIRN
TPeor RRYRIZHINTT, w33 h canYTE IR ?

B

h o
l A
(1) 2 D
@2 D
3) gn
@ LD

2.0z3e 020 M 023 2 R nisodd A 1 (2000 B3 fnew),
B @ (200 3eb Fgead o33 =023 C & (2030 FFeodd
Q0onT) @0ty BT BRINCS. LPNW BF IS @I
B0ed 2.03e V0D BWH 0 TRoQN TOYRIrtRET,
@@ﬁ@s& QY el goen Lesorom oy (W) 33
RowoPRR) FRTRATS
(1) Wg>Wg>W,
(2) Wo>Wg>Wg,
3) Wo>We>Wg
(4) Wg>W,>Wgq

B33 3INT TePINTY, 03N 2,000 TevF FoaNE) ?

(1)  edosh PREBOID, ~pleb) PREBNOS
BRBO0TIZT.

(2)  mEW PRFEIOD TOWE WBS0IN, wory B3R
@&méeoﬁamﬂd.

(B) T PRFGBOD FBATY) NGH ejomdad%

BRODT.
(4) PR WO WTCT z%@ﬁonSZL DTBREDRTS.

Tod m 0T 2.0%D WORE DI }TICDYT, Tod
4dm VT BRIROT an ﬁoﬁ%ﬁoﬁxﬂd.
BoPWIINT  [08C  TOTHE DI AFY AR
WATH. TROTT DROD TWToRE Beney v $TTe,
TP A3 W08 (e) T ST

(1) 05
(2) 025
(3) 04
(4) 08
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42.

43.

44.

45.

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0
for the block to remain stationary on the wedge
is

A
2
a
0
C B
1 a= 2
cosec 0
g
2 =
@ a sin 0
(3) a=gtan6
(4) a=gecosH

A toy car with charge q moves on a frictionless
horizontal plane surfacg) under the influence oi)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

(3) 1-56m/s, 3m/s

(4) 1m/s, 35m/s R A R
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k
A A A
2 -4i -] -8k
A A A
3) —7i-4j -8k

A A A
(4) -71i-8j -4k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0-521 cm
(2) 0-525 cm
(3) 0-529 cm
(4) 0-053 cm

42.

43.

44.

45.

BB, BR[0T, M TSI, Lot DR, D
BRET 0 DTOB 20T VTP WIBW ABC 0eD033.
wdgen weg ‘a’ deﬁmég—ird@ REBSONT. DRI
WTBOT F3oees ?&dmﬂaﬁw a WY 6 IBOT RoW0TR)

A
2
a
0
C B
1) a=_—°2
cosec O
g
2 =
@ a=20%

(3) a=gtan®o

(4) a=gcosH R

IR0TReT AITE0E 368 E Dppamton «@Ses q 9,
2,000 CBE PI_FRFEI0LS §IE IWIOT Boed
FoeS BT, q E  wodomen ema @en wotd Fedom®
FORRHODNE, 0 0200T 6 m/s 7§ HOFCINMITT. & FeTE
3T 033 LTITITT. B3 e Trm@tomen T80 AR,
RO0@> Fow' s oo BIWID. 0 FBy 3 Fedownd

TR T RTIRO Fen OB FTHRO W)
(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

(3) 1-6m/s, 3m/s

(4) 1ms, 3_5> m/s

wod @8, F =4f +5) —6k, (2,0,-8) 3¢
0o (2, — 2, — 2) I Boees éra@,idodoé,
1) -8i-4j -7k

A A JAN
2 -4i-j -8k

A A A
3 —71-4j -8k

A A JAN
4 -7i-8j -4k
0-001 cm 3R MeaFOTE 20T ;’uaw rees® 298 22y,
DTUHFOID WO Iy RES* 3 mﬁdﬁ;}(
SPERPRTT,. FYT Ao ARTI 5 mm Ty FZoDH
:»Ze@d ?iraa’gx RS0 evdead3 doégdd @oeed 25 Adn
BoRROTT. AR, Rers 8es, dreE) — 0:004 cm =TT,

WTT BOIRT YD)
(1) 0521 cm
(2) 0-525cm
(3) 0-529 cm
(4) 0053 cm
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46.

47.

48.

49.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(2) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

(3) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

(4) In spermiogenesis spermatozoa from sertoli
into the
seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

The amnion of mammalian embryo is derived
from

(1) ectoderm and mesoderm

(2) endoderm and mesoderm

(3) ectoderm and endoderm

(4) mesoderm and trophoblast

The contraceptive ‘SAHELT

(1) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) is a post-coital contraceptive.
(4) isan IUD.

Hormones secreted by the placenta to maintain
pregnancy are

(1) hCG, hPL, progestogens, prolactin

(2) hCG, hPL, estrogens, relaxin, oxytocin

(3) hCG, progestogens, estrogens,
glucocorticoids

(4) hCG, hPL, progestogens, estrogens

46.

417.

48.

49.

R0F 3R B
RTYRBeS0TT

Foorodedm e  QdoR

(1) B0ro3ReRAn S TRRFUE A YUBZaIRTT;
T0F03eBTIY DOIRF DN GVBZOIRTOZ.

(2)  BOFO3REERATTY, DOIRFEOND  GVBFOINTT;
F0F 03B TE IRRF LT N LVBZOIRMIZES.

(8)  BOFO3REERATTY, DOIRFLOND  GVBFOINTT;

FWFODEBTY,  DOIF LN AoeRgies”
23,20 OFQ, WRIMNTEOIRMOTS.
(4)  RrodRefRTIY, $I03RE 0N

Redner OREBRPn FDOITWTT  L),LR,ONE TozT
VRNBERTT;  FR0FoBTEY, DOIRF e
eVGOIRNROZS.

AP P eHndow evipbvwlelelnt

OM0TONTS

e:sé)a@o:imaf

(1) TeOTRF ==y BoFTRF

(2)  IBRoF 0= BoFTRF

(3) TRTTRF =B wBROF

(4)  SFPTRoF 32 LRTPRT

RPr8ReRE ‘Tae 030

(1) RPrEncsndmn 3By  Mmendm) IEMe,
BN ©oBF FeBIRRW T, TB0I0T3.

(2) evinds BRReE SIS DI Bugdide,
oriRZyaDR) 3R,

(8) 2t Yong §0300% FoBT R M ATRETS.
(4) @ womd IUD.

TFoEROOT NPFSIT VBT RRBLO ZOFOTRNOT
TOBRCETRINGD 03RT)H0TT

(1)  hCG, hPL, Zppizeris, dpewads

(2) hCG, hPL, (azi%ezias , ORET, ejéﬂje&ﬂraeﬁod

(3) hCG, Bprens, srlnei,
NSRS TI0IT

(4)  hCG, hPL, puAn%s*, Ssineeis”
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50.

51.

52.

53.

54.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Proliferative Phase 1. Breakdown of

endometrial
lining
b.  Secretory Phase ii. Follicular Phase
c. Menstruation iii. Luteal Phase
a b c

(1) il ii i

(2) i iii ii

(3) iii i ii

(4) i iii i

All of the following are part of an operon except
(1) an operator

(2) structural genes

(3) a promoter

(4) an enhancer

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Only daughters

(2) Only sons

(3) Both sons and daughters
(4) Only grandchildren

According to Hugo de Vries, the mechanism of
evolution is

(1) Multiple step mutations
(2) Saltation
(3) Minor mutations

(4) Phenotypic variations

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) AGGUAUCGCAU
(2) UGGTUTCGCAT
(3) UCCAUAGCGUA
(4) ACCUAUGCGAU

50.

51.

52.

53.

54.

500 I 383 3o I 3, 30B0RIR) FOWRA TR0V :

ool goooll
a. OFe0e i 0BEABIL0NET TTT
fosferc] BO0TINITYTIO

b. AFD B3 ii.
c. BouB i,

FOBRTT B0
Slokkewioy felorcs

a b c
(1) il ii i
(2) i ii ii
(3) iii i ii
4) i 1ii i
33 NS oo, NN wBoR  Fedw) womERY
TRTBTBA

(1) 208 w=Beeso”
(2) =goer romeadnsd
(3) 2.0t BRreeeso
(4) 2080 S TYF RO

2.2y &Pod 3;’;}( X Jear2odoas @oed X-30wod
REODT)  BROQTTY.  TMRBS B3 BEIFBOBONT
9302305038030

(1) ooy Roge8 =n3,
(2)  romsmsgert I3

(3)  romd B3 Feop ogert R,
4)  Sewger 3n3

BRRRE B FTTS FFT BEBNTRT T3 030 20T
(1) om0 Boedeo Bueyr,

(2) RS

(3)  ©8 Ry VR,

(4)  FIIRoR[D FOGIrd

AGGTATCGCAT 203 mOmerddd 3093w
FoBedTo 0803 BRPTINSTHNTIZE TorwET ST &3
mRNA 0ed005 950 @3R8 3RNEONS O ?

(1) AGGUAUCGCAU
(2) UGGTUTCGCAT
(3) UCCAUAGCGUA
(4) ACCUAUGCGAU
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55.

56.

57.

58.

59.

60.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1) Forelimbs of man, bat and cheetah
(2) Heart of bat, man and cheetah

(3) Eye of octopus, bat and man

(4) Brain of bat, man and cheetah

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin D
(2) Vitamin A
(3) Vitamin E
(4) Vitamin By,

Which of the following is not an autoimmune
disease ?

(1) Psoriasis
(2) Rheumatoid arthritis
(3) Vitiligo

(4) Alzheimer’s disease

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Homology

(2) Analogy

(3) Adaptive radiation
(4) Convergent evolution

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1) b,cande

(2) a,bandc
(3) a,cande
(4) b,dande

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Elephantiasis

(2) Ascariasis

(3) Amoebiasis

(4) Ringworm disease

55.

56.

57.

58.

59.

60.

83 ISNTYNTYT BT R0 Fmedrows wB3E
BOWOFBLRARNDY,  aRNYY,  Foabew  aefeddm)
e:so:")%ma% :

(1) DoF, RO =023 303NRY @0ormednshd

(2) RO, B, B3 3TN FToD

(3) 3R, WO o= dodo%d B8,

(4) md@ ROROT, BB TICD 20T

TOO0T BRI JORWIFIo3RNROE 2R3N
BPYR) 2@ FRIRT BeRHIT
(1) @D

(2)  waa A
3) Qe E
(4)  QwaT By,

Reggoosd

85 FINTYINGY, IR TZeent Do TR
TOLOF TRIPAL,

(1) RAwcdoodnaz®

(2) TOBRREPOWT BHFILT

3) 2ednpe

(4) &g [oFF g

BOmD  ITeAIAT  BoROS  [wed  3BIc0YI

:@m&géojao ‘ad% VTOBTE
1) DeeRReeN
(2) @3N

(3) Sieal ey BeRodeRs®
(4) 3IIZBFow TR
B 3NOE  cex® fendd  ‘TIR mooRned

@mdo@ewgé’omaq BRIDIE, TGRS ?

a.  AOTPEF TIowSRedd

b. AT BwEeed

C.  WRIBOATYMOTIONTO

d.  ePpes Dews 3eedd

e. ORI 30T[0de00I
(1) b,cxe

(2) a,bzo3yc

(3) a,cxe

(4) b,dadge

5 NI oI TOWTODNY  Beerory)  ARYNY
Bo020008T BT TR0 DowE TYNY w8 Aneodn
FOOEITONOT

(1) 2OBoL3c3RT*

(2) eszmpomam

(3)  ©0eWOIRITT

(4) DoowoB TS
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61.

62.

63.

64.

65.

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Sacred groves

(3) Seed banks

(4) Botanical gardens

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers

(2) Latex
(3) Leaves
(4) Roots

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive individuals are less than the
post-reproductive individuals.

(3) pre-reproductive individuals are less than
the reproductive individuals.

(4) reproductive and pre-reproductive
individuals are equal in number.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Mutualism
(3) Amensalism

(4) Parasitism

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1 i i 1ii iv
(2 i 1ii iv ii
3 i ii iv 1ii
(4) il iv i ii

61.

62.

63.

64.

65.

FINTINYE ‘05, S 22e BoTFR 1t 30T TTY 20w
SiiEtt

(1) SZ2Be Tpod VRN

(2) TR3 BneRnsh

(3)  Wend w08

(4)  FIANS RIS

D& NEB IR NS M 5 7 BRTT B3, BHODD

YUT3RENZITYT

(1) =eynH

(2) n@BI

(3) Snsh

(4)  Bedonisd

2,003 T3eBT WEP0aTs, LeeIodnd

(1) SR, ORI BINONOZ  LOTP TR
s Te3cozT.

(2)  Spes ORI FENONOZ OeTPTEE N0
BR0 QTOCT.

(3) OeRpTWIe  [IMONOT LOTPBIED  BITL
BRI 20IBYT.

(4) OcEp@Es == FPIOTP B FINTO AR
Fos3 o acded.

33 BINTYNIY, ORI 2,000 TRIBT QOLTYZR” B
BT 3eodd @g@éd@ 506300000688 303R0FONY, ézﬁgﬂ
WHROTIT

(1) 2w 2enS

(2) THTBRes

(3) =g 3030 3TOT ABIETI

(4) TooR©oWs Be=D

500 I 358 390 I 38, 30R0NIR) FORA BROD :
gowoll

UV-B 83

goool
a. CIvEIREPFEIT i
b. W0 C0T  ii. @TeD TOESTED
Qe

c. Woowd BB jii. TF0B BB

d. ®&F 39BeBT  iv. Ty QO3RN
a b c d

(1) it i 1i1 iv

2 i 1ii iv il

3 i ii iv iii

(4) iii iv i il
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66.

67.

68.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased

respiratory surface

(2) Increased number of bronchioles; Increased
respiratory surface

(3) Decreased respiratory
Inflammation of bronchioles

surface;
surface;

(4) Increased respiratory
Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1

Between left atrium
and left ventricle

Column I

-

a.  Tricuspid valve

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c. Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) il i ii

2 i iii ii

(3) ii i iii

4 i ii iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume i.

b. Inspiratory Reserve  ii.

volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1) i ii i iv

(2) iii i iv ii

(3) iv iii ii i

4) i iv ii iii

66.

67.

68.

RN WPy D0qreERE FowoQABOE B IINT oXBET

BUNE BOOTRA TVRERCIT ASCNT) BRRTDRAOT
&) < @ R >

(1) wposecdnecone  Apos; ZoRERIE  Poed

BRT0oIRRORNT

(2)  wooscdneony  TupRosl; THFERETE  Woed
TEODE

(3) BRROXRT TFERIE Bed ;5 W osecdpeOny
Aro®

(4) TP TIBREST Roeed ; 233,08C3RCLONS ARCOBD
5] 3 ey T2

500 I 3583 390 I 38, FOB0RIR) FOWRA TR0V :

Fool gooll

a. $30 Foou i QBERETH =2 28
B30 T

b. QB g0 i, 2OEBP 0B BYTO
3835003 IBOT

c. ©TFIOT, Bt iii. WOBZEDF F0ZY WO
B30 T@H

a b c

(1) iii i ii

2) i il ii

(3) ii i iii

(4) i ii iii

500 I 358 390 I 38, 30R0NIR) FORA BROD :

ool goooll

a. %Cg@ m%w i 2500 — 3000 mL

b. ‘&369\3)6%36 o7ty ii. 1100 — 1200 mL
ORIT

c. DFRTeL30 OFTE iii. 500 — 550 mL

GnlJvkovey

d. 62@35053@6 m@@sw iv. 1000 — 1100 mL

a b c d
(1) il ii i iv
(2) iii i iv ii
3 iv iii ii i
4 i iv ii iii
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69.

70.

71.

72.

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine
(2) Ecdysone

(3) Estriol

(4) Estradiol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(2) Limbic system

band of fibers
connecting left and
right cerebral
hemispheres.

(3) Corpus callosum

production of
releasing hormones
and regulation of
temperature,
hunger and thirst.

(4) Hypothalamus

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body
(2) ligaments attached to the iris
(3) smooth muscles attached to the ciliary body

(4) smooth muscles attached to the iris

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin
(2) Progesterone and Aldosterone
(3) Parathyroid hormone and Prolactin

(4) Estrogen and Parathyroid hormone

69.

70.

71.

72.

B3 FPNTIPYNTS, CRPT @[ RE BRR0T T3
TORREERD

(1) B

(2)  3ERee
(3)  SRoIN
(4) é%m@@&jfa@@

35 INIYNIY, odn= TSR wEn TEeBN B8R
303N 23 Foawen tdedainne) ?

(1) Do e D3 80300008, 20308
RoneER dédojaéc ToLOQATIOZ
BB, 30308000703,
PO E,TI0T BRBOLIT
QOTVT BOTTO BTN,
HRCRBRPEIZTS; BOSODT
Q030 RTTI.
DT WY WO FTe,e”

(2)  Oovor H= :

8) TFFT

FERERDT OFFRRONRR) ol
NG g,
(4)  FRPFoRT : ToRRerINY WRNE 83
SURZ OO0 TR WoBY
230033908,

BESS 9EQ, wOSErE WARCH W sy
CIRREOOT SBODOLTS

(1) 2decd Bewms LouBRoRTOR dnsdownvon

(2) 2OFN ©ouBROABTR AMFR0LNPOT

(3)  2Oeod Bewms WoLBRORTIR BT MWOIVNRVOT
(4)  0FR ©oLsERoRTIE WYTWO AWEIINYOT

85 FINT TRRFINIY, IR SROIRTPTIAT
DB YT, BERGROTT ?

(1) sdpereoos R8) Fpeerde

(2)  Speedagoeod BB SERERSTHT

(8) TROIFTINE TR BB TR LTI

(4) B3R RB TOIFTONE TRRFT
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73.

74.

75.

76.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chief cells

(2) Mucous cells

(3) Parietal cells

(4)  Goblet cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I

a.  Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) il ii i

(2) i ii iii

(3) i iii i

4 i iii ii

Which of the following is an occupational

respiratory disorder ?
(1) Anthracis

(2) Silicosis

(3) Emphysema

(4) Botulism

Calcium 1is important in skeletal muscle

contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin.

(2) activates the myosin ATPase by binding to
it.

(3) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(4) detaches the myosin head from the actin
filament.

73.

74.

75.

76.

T80 BRODY, B3 FINT BN MHRF RSN FeoRQE
068038, AT BRBOZS

(1) W Bre3ned
(2) m%éfae:s" FRe3neh
(3) Doerer Fpe3nsd

(4) rreede Zne3nsd

500 I 3583 Fowo I 38, FOB0RIR), FOWRA BRODA :

goool gowoll

a. PUIRET i oW TRZReos
b. Meds® ii. 08 SRFReond
c. BRI iii. XoTgs 8,03

a b c
(1) iii ii i
2) i ii iii
3) ii iii i
4 i iii ii

2RNIE, CIRFT1 2,080 FZF0e0T TIFEREST SRTE ?
(1) w@ozr%

(2)  ad3eerz®

(8)  Doe|R

@) PO

BRAOIONY BOBNWTE, 59, 0D WBITND FTT

(1) @aRpRa  e8R WoRIVRRTT B33
DoodRRT BoedVT @y FodnIE wWennY

mmsmq BRTOTIBIR)O.

(2) Soodeeam®  ATPoder $¥e3R wodRozyad
B30T @dd% BOTOTNROTT.

(3) oieernd  wHZE[AY DY BT Zodod
D eSIEETabrN wocﬁd?izL 3&%71@%@&.

(4) Soodeerd® 3SR, BT Bo&cwod
23D BROF)TO.
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71.

78.

79.

80.

81.

82.

Select the incorrect match :

(1) Lampbrush
chromosomes

(2) Allosomes

(3) Polytene

chromosomes

— Diplotene bivalents

— Sex chromosomes

— Oocytes of amphibians

(4) Submetacentric — L-shaped chromososmes

chromosomes

Nissl bodies are mainly composed of
(1) Proteins and lipids

(2) DNA and RNA

(3) Free ribosomes and RER

(4) Nucleic acids and SER

Which of these statements is incorrect ?

(1) Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)  Glycolysis occurs in cytosol.

(3) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(4) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Protein folding

(2) Protein glycosylation

(3) Phospholipid synthesis

(4) Cleavage of signal peptide

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polysome

(2) Polyhedral bodies

(3) Nucleosome

(4) Plastidome

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Thecodont, Diphyodont, Heterodont

(3) Pleurodont, Diphyodont, Heterodont

(4) Pleurodont, Monophyodont, Homodont

71.

78.

79.

80.

81.

82.

TOORQF ERODBODT) SOHZRR :

(1) ROTWT Fear 30N - BFREL” BYSewoes”
(2) =RDTTeT Bear oo - DonescarBoBonhd
(3) T3S WeAFrB0BONED - YVLOITOR 207

(4) RrRoeI0eFT ®edFI030 - L-55008 TearBodd

TR Se@reh Romn BoTEEeIRNIR>

(1)  Ppeess® =B DTN

(2) DNA R0 RNA

(8) =08, Fpindeemoned @32 RER
(4)  Brgodec saned R03) SER

QRNTE, 0300e3 Bewd Foowe ?
(1) TCA WIE senvh SB)EieesaoR,03nT
BR,E$TSOTOIE.

(2) 7§ I 3nBrRTY S0k

(3) wtBeesesy  TRROEETHD  FEREEI0E CINT
FRTTPTCHY, STeINIT.

(4) 7 5037 Qeporammodd=cn Sdobeo NAD ne
TpGEodroln FERBT" wWeONY TBIDFOKD 2.0T0.

3 FPNT PUSINTEY IR wTed 03T TWPOTE,
(RER) S@atogoe ?

(1) Hpeedeans Dondd

(2) Fpeeand § Fades

(3) ma&@)@&wﬁ@ wa@wdé
(4) RoBe3 B, B3 3w

TOD  FrIeFReRoned 2830, Beornmodpeniooddnt
2o mRNA ip8 32> wad BERY OB @)
QT0ITN  BOSRTY  WRBZR.  @oI3m  ERINART
JudneRemony godn FI

(1) =OZeeRT

(2) W3S Bemnh

(3) BR3¥rednesr

(4)  TReEREF

B NS cInm  Fnth  BSES doédzﬁéoﬂ;?p}[
DBWORIT ?

(1) &ednemdoLs, c%époﬁmmo@s, BRCBHCTT03

(2) &ednmoos, z%@o:’iraemou, e3R8

(3) R, Brewoots, Fgodpemoots, TLBREI0

(4) TR, TReE0w, BRBHEPOIRETETIOL, BREHRLTEOL
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83.

84.

85.

86.

87.

88.

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia

(2) Reptilia

(3) Osteichthyes
(4) Aves

Which one
homeotherm ?

of these animals is not a

(1) Macropus
(2) Chelone
(3) Psittacula
(4) Camelus

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of a boat shaped sternum on the

9" abdominal segment
(2) Presence of caudal styles
(3) Presence of anal cerci
(4) Forewings with darker tegmina
Which of the following organisms are known as
chief producers in the oceans ?
(1) Dinoflagellates
(2) Diatoms
(3) Euglenoids
(4) Cyanobacteria

Ciliates differ from all other protozoans in
(1) using flagella for locomotion

(2) having a contractile vacuole for removing
excess water

(3) having two types of nuclei
(4) using pseudopodia for capturing prey

Which of the following animals does not undergo
metamorphosis ?

(1) Earthworm
(2) Tunicate
(3) Starfish

(4) Moth

83.

84.

85.

86.

87.

88.

WTOR RIS, DT WY NBBE  TOLOFLNTI)

BRoDTIT 5T Moo 8IS &,e3080) ROTIE

(1) evggodoTRaNd

(2) =oz@nd

3 @%gp:‘i ot

(4) Jgnsd

B3 BINT T9,03NTA_ 20830 WATT &6 ?

1 o

(2) scipex®

(3) AR

4) T

Mowd w2TPODRY, Beag, wTTOWoT 1T B8 FINT

QB MIEFVFENTR) LVTO3RENTOTIT ?

(1) Tresd ST0E TRORY LowIZ0 YVTT DOBTE),
ema?o@\%oibod

(2) =B 3, wﬁ%@oﬁbod

(8) RTBERNY evTRSOT

(@) Roownic SEoh tiedn Sz B

33 BINT O NI, FONTT B0, LVTITETD 0T

TROROZT ?

(1) dpecgics,

(2) wosmwmy,

(3)  odnFOIE

(4)  Rodndeeemsoodd

RO0IEIT BT TEITIFO DTS 2R BOWEANIN0T T

(1) B gzo0n==) wBedRNHZ:S

(2) TBenE DTN BROBTLL F0BW BITT BRODS
(3) <T@ 23T Bned Feon TR B0t

(4)  WOTEIOIR ABLEODO N TRHRR, WIRYSS
38 ISNT 03N BN SRVBOTIFIR wemMPRE), ?
(1) oSzosd

(2)  epldes

(3) Tggeoed

(4) o8,
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Match the items given in Column I with those in

Column II and select the correct option given

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

d

iii
iii
iii

ii

Match the items given in Column I with those in

Column II and select the correct option given

89.
below :
Column I
(Function)
a.  Ultrafiltration
b.  Concentration
of urine
c.  Transport of
urine
d. Storage of urine
a b c
1) iv v ii
(2) iv i ii
3) v iv i
4) v iv i
90.
below :
Column I

a.  Glycosuria

b. Gout

c. Renal calculi

d. Glomerular
nephritis
a b
(1) il ii
(2) i ii
(3) iv i
(4) il iii

i.

ii.

iii.

iv.

iv
iii

ii

Column II

Accumulation of uric
acid in joints

Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
i
iv
1ii

iv

89.

90.

500 I 3583 Fowo I 3¢, 30B0RIR) FOWRA TR0V :

(D
(2)
3
(4)

o001
( @a:‘or)

S0} BRERONF
eI T T3

[T, T

RS, Fe3TH

iv v

iv i

i

iii.

iv.

ii

ii

oo Il
(RS @ gor)
BISeR 9T

03203ee3T*

[T
B OeRBONTT FITEIST M
TR TP
£30,008°

d

iii

iii

iii

ii

500 I 3583 Fovo I 88, 30RB0RIR) FOWRA BROD :

(D
(2)
3
4)

ool

R} BRERRO0IM
e

O TR

MEITOeRT®
SEsielteod
a b
iii il
i il
iv i
il 1ii

i

ii.

iii.

iv.

iv

iii

ii

goooll

FoTINTE), 0BR0T BN
3ea)TR

TRZ 0TS Wt TS ri@,id
ORTH03T Tod

MROTOYT GVO0RE
mg@q;’@doﬁa 03
QTN

d

i

iv

iii

iv
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91.

92,

93.

94.

95.

96.

97.

What 1is the of NAD" in cellular

respiration ?

role

(1) It functions as an enzyme.
(2) It functions as an electron carrier.

(3) It is the final electron acceptor for anaerobic
respiration.

(4) Itis a nucleotide source for ATP synthesis.
Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2)  Yucca
(3)  Viola

(4) Banana

Oxygen is not produced during photosynthesis by

(1) Green sulphur bacteria
(2) Nostoc

3) Chara

(4) Cycas

In which of the following forms is iron absorbed
by plants ?

(1) Ferric

(2) Ferrous

(3) Both ferric and ferrous

(4) Free element

Double fertilization is

(1) Fusion of two male gametes of a pollen tube
with two different eggs

(2) Fusion of one male gamete with two polar
nuclei

(3) Syngamy and triple fusion

(4) Fusion of two male gametes with one egg
Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Magnesium

(2)  Sodium

(3) Calcium

(4) Potassium

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C

(2) -80°C
(3) -160°C
(4) -196°C

91.

92.

93.

94.

95.

96.

97.

esgRedeoD LurTPEEY NADY 950 w3, 00 ?
(1) 300N ToCDFATE LRI,

(2) @eﬁav DOBFRN TOONE VTR,

3) @mo&w LVRATIEITEO)_ AT 908530 mﬁ%@p‘

R$FITTNTOZT.

(4) ATP FoBeREN B0 DR FOIRCE T
zﬁodd@@mﬁdagd.

WO BPeBT  TIonw  wWed  @8emITT  Rowoyk

QORERORTOT, WHCHEIY, CINPTR wodQTIE Qé@{odg

B ReDS WEW), FoTRorkevTORMT AN B3
FNIYNFE), 03RY3eT3

1) Fzer

(2) otg

8) &odecw

4) ¢

30,830 REBODY, BTRTFR) VTTY, eU3Y EOYAL)

(1) =3 Ro3 apk-Nelevip)

(2) o5

(3) wom

@) I

B3 3INT 03RS CATVTY, L) IFNV0T SoeTURROY ?
(1) oz

(2) o=

(3) Fow ) FTRLSER
4) 3203 D>

Q@ﬁews Q0T

(1) BonTITEHTOR TR NoBd Doreeadnsd T
wﬁmd 90mEaNS 103 To0IRERTINIDE

(2) uocﬁa RoOOOTED DT FoWecERESFeoT NS
228 BoodRenwonoNE

(8) om0 083 EFoodRenzmnINg

(4) 2,030 @oEIIT 2R3 ATEY Nnord Domoraony
Foodpeneonow?

BeBRe33 ¢3ne o (Turgor) @ab RoyReRdng & 9N
O3 26207 mmmdmﬁcbgd ?

(1) ﬁaﬁq@éoﬁoo

(2) Are®0

(3) 700

(4) FpLpdodo

35 UFFODY, B[ARTHE FTRIBRY, BIRTeronTI)
BOTVTY DRFNS FoO FDDIBLBOTONT

(1) -120°C
(2) -80°C

(3) -160°C
(4) -196°C
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98.

99.

100.

101.

102.

103.

104.

105.

Which among the following is not a prokaryote ?
(1)
(2)
(3)
4

The two functional groups characteristic of
sugars are

(D
(2)
3
4)

Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADH

(3) Oxygen

(4) NADPH

Stomatal movement is not affected by
(1)
(2)
(3)
(4)
The Golgi complex participates in
(D
(2)
(3)
(4)
Which of the following is true for nucleolus ?
(1)
(2)
(3)

Saccharomyces
Mycobacterium
Oscillatoria
Nostoc

hydroxyl and methyl
carbonyl and methyl
carbonyl and hydroxyl
carbonyl and phosphate

Temperature
Light
CO, concentration

O concentration

Fatty acid breakdown
Formation of secretory vesicles
Activation of amino acid

Respiration in bacteria

Larger nucleoli are present in dividing cells.
It is a membrane-bound structure.

It is a site for active ribosomal RNA
synthesis.

4)
Stomata in grass leaf are
(1) Dumb-bell shaped
(2) Kidney shaped

(3) Barrel shaped

4)

The stage during which separation of the paired
homologous chromosomes begins is

(D
(2)
3
4)

It takes part in spindle formation.

Rectangular

Pachytene
Diplotene
Zygotene
Diakinesis

98.

99.

100.

101.

102.

103.

104.

105.

B3 FINTRNIY, 0T FpTR,003nees & ?
(1) wsdecHra

(2) dgé@@i@@aﬁ:o

(3) erReEdecooTw

(4) o5

3370nY rbsa%éaixj ;PN

NORYNSoTT

(1) FEser @8 ege”
(2) BRI B QeGP
(B)  FRRFACT 0B FEde*
(4)  wlRrde® B2y PR

S5 FINTPYNYY, IR By ERoZER[OD
B030CDYT 0T ¢ ?

(1) ATP

(2) NADH

(3) Oxygen

(4) NADPH

TToR, e WUBNT VBT WL B,
(1) o

(2) @I

(3) COgy =eT8

(4) Oy =3T3

M) Bogeedrsy) AWTY, GPNn=ROZTS

(1) 8 I[N ¢Iess

(2) 8 BRI NY 03

(3)  ealynee sy 803nEs fevRdNE
(4) @%@Oo&md@qw%m%

3negdcodmmongood (Nucleolus) 3 BowoQrmod &
FFNIYNSE, 03RRTo 70 ?

(1) Pud Beoogtmn  w2essie3ndy, dneddecds,
TOTFODN BRBHTIZS.

QTROT TPTOIRHZ THoIRN.

8,030 FeiReARe0T ST°.o°. 2. JoFeRFBOD P
ATNAT. ‘
(4) 30T WBTBONE, BT TLLYIBT.

BT SNIYT B Tog,ned

(1) 20m0e088 S50mFmNES

(2)  RRZRoEFITHFTANGS

(8)  2ezOW HTTRYTNES

(4)  SoDTTTRIEND

BRTEABATIR  ARNITRLREIFS030NE  3e0r BO3W
SToRRRMNTD 33 T03TE,

(1) T B3

(2) apRue

3) Errwes®

4)  Boimiae

N o1e) @oﬁnréj

2383

(2)
3
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106.

107.

108.

109.

110.

111.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1
(2)
(3)
(4)
Use of bioresources by multinational companies

and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
4)

Retrovirus
Ti plasmid
pBR 322

2 phage

Bio-infringement
Biopiracy
Bioexploitation

Biodegradation

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Council for Scientific and Industrial
Research (CSIR)

(3) Genetic Engineering Appraisal Committee
(GEAC)

(4) Research Committee on Genetic
Manipulation (RCGM)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1)
(2)
(3)
(4)

Extension, Denaturation, Annealing
Annealing, Extension, Denaturation
Denaturation, Annealing, Extension
Denaturation, Extension, Annealing
Select the correct match :

(1)
(2)
(3)
4)

Ribozyme — Nucleic acid

Fy x Recessive parent — Dihybrid cross
G. Mendel -

T.H. Morgan -

Transformation

Transduction

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Sharbati Sonora
3)
4)

Basmati

Lerma Rojo

106.

107.

108.

109.

110.

111.

BRIIT OoFpeFonR BT .. 3383)3%@06352L
BRBRRYILO WRRFEN LUBCIRNDT BT 85
FNTDNGS, 3Ry ?

(1) ounzox

(2) Timaw

(3) pBR 322

(4) A FPeer

WBITIEOT FOTINKD W0 AN s JoBIQONY
WPBODRY 2T ForonE o, 0BT BERTeRdE wgrse
TBRBRT), FET0RTH Q0T.

(1)
(2)

woiramzo@owmow

WOSREFTY

(8)  wodnens eIt Eiesa

(4) wolneRhBeRD

PROSRY, ATERIT  WIEHN D00 eANTY
TOLOWILL, ATHSIOD BPY0BT [RET TRFMOF
2oloSn] ﬂoﬁ@oﬁn@doa’d

(1) B&eod Frsecd Jodnegm o (ICMR)
(2) s 083 reoTe Bodnerme Bowe (CSIR)

(3) W QoROPOOT [P, zoagais-m FPAVE]
(GEAC)

(4) 835 STrRNTOR Jo3RepTD 308 (RCGM)
TORTex Yo 0cdngs (PCR) 398 Fo3ne 30cin
Wo30300TT

(1)  mRSe3eddes, ARHTED, ToTRRSET

(2) TI3EBT, VATESEBTE?, m;mdﬁdsa

(8)  RPRTTeD, ST, FTEIeBTd

(4)  RPITTed, DYTL3e3Ted, TTOROSST

TOAURE TROOFODR) BO[RE

(1) Fuedy=r - TRIEDFT $I,

(2)  Fyx sTo0 B3m08, - QR080 @BHOWR0E
(3) w.Boorer - CRZ03TEd

(4) .37 I - RTEE

D03TO BIN WRIFONOT HRTSTYRTH, woTd TR
©30%  BYONT)  Dcfede  FomRodeomd  Beedors
BRRBLORBI AT om@dé RoLoRATTT

(1) Co-667

(2) 3wre 3eccooe
3) m:’é;%

(4) SR Beedne
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112,

113.

114.

115.

116.

117.

118.

Select the correct match :

(1) Alec Jeffreys — Streptococcus
phneumoniae
(2) Alfred Hershey and - TMV
Martha Chase

(3) Francois Jacob and Lac operon
Jacques Monod
Matthew Meselson
and F. Stahl
Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Cellulosic intine

(3)
(4)
The experimental proof for semiconservative
replication of DNA was first shown in a

(1)
(2)
(3) Virus

(4) Plant

Which of the following pairs is
matched ?

(1)
(2)

Pisum sativum

4)

Sporopollenin
Oil content

Fungus
Bacterium

wrongly

Starch synthesis in pea Multiple alleles

ABO blood grouping Co-dominance

(3) T.H. Morgan Linkage
(4) XO type sex Grasshopper
determination

Offsets are produced by
(1)
(2)
(3)
4
Select the correct statement :
@)
(2)

Meiotic divisions
Mitotic divisions
Parthenogenesis
Parthenocarpy

Franklin Stahl coined the term “linkage”.

Punnett square was developed by a British
scientist.

(3)
(4)
Which of the following flowers only once in its
life-time ?

(D
(2)
(3)
(4)

Transduction was discovered by S. Altman.
Spliceosomes take part in translation.

Bamboo species
Jackfruit
Papaya

Mango

112.

113.

114.

115.

116.

117.

118.

HOOURE ERODBFCDHRY SOLTARR :

(1) Iome Syoedcd
2)

3)

ST WA -
@eﬁ@ws TR WY WeGor BeTF - £3.90.9.

59,0807 e
0B S RTIT
BRBERAFOIOT = - YT TeFeses
. W

BOIMBI), TEOLOVINATY, FoTgRLd 85 FINT CRYT0
RTHOO3BTOTO EREOILLTI ?

1) Fpoz® 3 (Pollenkitt)
(2)  Bwydpearcdng wod”
(8) ARSATPST

(4) @@

- R 2o

(4)

B.07° 0. o ©IFodEme BE FITOd Todemwes
TYOIT3 O, FRTBLI BTIF AT, ATTY,

(1) 3&e03,

(2) w8000

(3) o=

(4) =F

2 49N HRCANI, IR T KRCOFCIRNT ?

(1) wmséojoe?v)&e,—-édd RoFeRm 1 wEd wOeeund
(2) ABO 38 RooR)mnwo0d . ABBRI

(8) 3.3, Ieenes® : Dodees®

(4) XO 2e80H Qo Ver oD 1 BB

wpRer (Offsets) Ro eU3Z0IRMIR 2T00T
(1) 003N DPxRIRD

(2)  Repes® VPRIND

3) @RARevwII

(4) ©RQAReTPOT

TOURT TePFOIR) SOVTRE :

(1) “OoBers” TTI) 08T AWY® BB,

(2) RJe= mﬁdﬁ.}i @@%Q}d@ﬁ@ﬁd& WIRE LI
DFPROT.

(3) o7 8 [ 0T LRI WG Z0ZROTOLIR.

(4) 2 JeRrRY R Aodneeemonsh mdeses.

302 22TV, o) [T, BAWBORYTO OSRYT ?
1) 2ot 3B

(2 =

(8)  Bzow

4) B»y
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119.

120.

121.

122,

123.

124.

Niche is
(1)

all the biological factors in the organism’s
environment

(2)
3)

the physical space where an organism lives

the functional role played by the organism
where it lives

(4)

the range of temperature that the organism
needs to live

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(D
(2)
3
4)

Carbon
Cl
Oxygen
Fe
What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer: 60 g

Primary producer: 10 g
(D
(2)
(3)
4)

Inverted pyramid of biomass
Pyramid of energy

Upright pyramid of biomass
Upright pyramid of numbers

Which of the following is a secondary pollutant ?
1) CO

(2) COqy

(3) Og

(4) SOy

World Ozone Day is celebrated on
1) 5% June

(2) 21 April

3) 22" April

@ 16 September

Natality refers to

(1) Death rate

(2) Birth rate

(3) Number of individuals entering a habitat

(4)

Number of individuals leaving the habitat

119.

120.

121.

122,

123.

124.

2z (Niche) 20200830

(1) 20l TORTTBYLR e, WRF WY 1P
Slehlat=d

22eN03ROTD TR WTIBETT  NTYT 08T
DT YT TROT RAReSNY  cvmadeen
df:@%m?%ﬁ Wi
23eN03POTO D) WTIBETITI
TQREREORIT TSR ZF T,
20T WRIBITOTINED LIETMIT YV

(2)

R,

3

(4)

3B NS DROBASEY oIRPR  AoHROTE
BeNDTEBN  DEFR, Mﬁqxaeﬁabq SIS Bt
DePRITS ?

(1
(2)
(3)
(4)

QOTRO
Cl
SRRTE
Fe

3 FINT ToI0ZT Wwws oIRT  0e3od  TORTT
QTOT® @aiz(ﬁ@od WBITD ?

Qgeonds gz 1 120 g

TREN0T 0383 : 60 g

TENT evEEE: 10 g
BSBIMT G DBTS0D LT
3803 LTAWE®

Se33eTTT LBTHOD LTI
Se33ec0T Bosoe; LT

(1)
(2)
6))
(4)

33 SNTYNID CARTITO QPECHT BROTTTE ?

1) Cco
2 CO,
3) O,
4 S0,

03 2.BoRed DTN 30RO =

(1) 53ewex®

(2) 213ecDe*
(3) 223c DeF
(4) 163 BZowo*

e300 (Natality) o300 evedead=omcdd 52{
(1) =032 33
(2) =3I

(3)  mREPOTE word Beddss BINE Boss,
(4)  =595ROTO0T ANFWRE BIne o8

ALHCA/ZZ/Page 28

SPACE FOR ROUGH WORK

English/Kannada



125.

126.

127.

128.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii. A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

d. Catalogue iv.

a b c d
1 i iv iii ii
(2) il ii i iv
(3) iii iv i ii
(4) ii iv iii i

Which one is wrongly matched ?
(1)
(2)
(3)
(4)

After karyogamy followed by meiosis, spores are

Uniflagellate gametes — Polysiphonia

Biflagellate zoospores — Brown algae
Chlorella

Marchantia

Unicellular organism

Gemma cups -

produced exogenously in
(1)
(2)
(8) Saccharomyces

(4) Agaricus

Winged pollen grains are present in
(1) Mustard

(2) Cycas

(3)
4)

Neurospora

Alternaria

Pinus
Mango

125.

126.

127.

128.

500 I 3583 Fowo I 3¢, 30B0RIR) FOWRA TR0V :

goool Lploley i

a. BWerOodo i [P FoTFAT AT, o=
TREINFR), VOATOB 7.

b. 3¢ i, TTEeSFPOTITE B0mWOT O,
BRRERER) B TAFemN SR
BRETI TeSoIPNT), B
MOBEROIQER FRTTmINTITOSTH0
036w VROBNISRFRPORTTS.

c. SRR il LR LONE BYBRTBONTY
YO T2 O FY.

d. s iv. QT ERTNG MOTOEDREN
9BIBROTTTINTIR BT NN
EveIie)
BOIRF ODNTRRIPORTI
FLROIPAT.

a b c d

1 i iv 1ii ii

(2) iii il i iv

(3) iii iv i il

4) ii iv 1ii i

ATTE, CINFTD FHE TROQFOIDNTS ?

(1) 28 3500n=&LE one - TRORFRECTR
(2) B FTONTLE WOREHINL - 300 F=©

(3) 3B Bedead Bew - #pden,

(4) 7R swensd - XRFFoSOR

Bpe3Be0T, TOOIRETIRD  QOOIT  BT03T  WeRINA
208023RF BN GUBGOIRMIRT AT,

(1)  &gdezeoe

(2)  woFerooan

(38) A FdReHAT

(4) oz

656033635 Roon Beeadndd QT3 9.
1)
2 z
(3 Fax©
(4)
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129.

130.

131.

132.

133.

134.

135.

Pneumatophores occur in
(1)
(2)
(3)
(4)

Halophytes
Free-floating hydrophytes
Submerged hydrophytes

Carnivorous plants

Plants having little or no secondary growth are
(1)
(2)
(3)
(4)

Grasses

Deciduous angiosperms
Cycads

Conifers

Casparian strips occur in
(1
(2)
(3)
4)
Secondary xylem and phloem in dicot stem are
produced by

(1
(2)
(3)
4)

Select the wrong statement :

(1)

Epidermis
Pericycle
Endodermis
Cortex

Apical meristems
Vascular cambium
Axillary meristems
Phellogen

Cell wall is present in members of Fungi
and Plantae.

(2)
(3)

Mushrooms belong to Basidiomycetes.

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

(4)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

Which of the following statements is correct ?
(1) Ovules are not enclosed by ovary wall in
gymnosperms.

(2) Selaginella is heterosporous, while Salvinia
is homosporous.

(3)

Stems are usually unbranched in both
Cycas and Cedrus.

(4)
Sweet potato is a modified
(1) Stem

(2) Adventitious root

(3)
(4)

Horsetails are gymnosperms.

Rhizome
Tap root

129.

130.

131.

132.

133.

134.

135.

SRR R FpeT YD DRINTYTOZS

(1)  goRINRD
(2)  RZoBERNTE - Bewds WO AN
(3)  SoTONTT wORZND

(4)  RpomTe0 AFNR

@B $Eme HZecDF WRrode Ao BIYNFoTT
(1) B zZRH

(2) H2Tdew SHFBWERIZNWD

(3) Fwwrnsh

(4) 303050 YR

TBEO0DT TeINTD 2BESYTZS

(1) w&IFT

(2) HoFser

8) wo3swsT

(4) BT

0OnY RZToRTY, QecdB Yoo =R
SUZZOIRRIRT BTOT
(1) 3on Ipr3nzs
(2) oecdd Feowodo
(3) T3eod VRrSeeE
4) FIxs

3G BB BowoS -
(1) 3Scomnsh IR
QTI3.

©etINTd BR3P YA Fedss.

VRS0 TROBDIRY  NIBTR, WBBENTY,
FeERT0R 03RNY BeFEREBT BT SN,
ARECRTPTRYY, WF TN Fowdd8 0=
GBI TWSNTINS.

33 FINT TeINTE), 03T FORNT ?
(1) eogE VRIS,
©0TTONRGN0T S5ORTIDE) .
Fowdy,  RIWewsoI0T T
RROWETBOI0T SNT.

Foorr DY ABIMICEOLR, RPN
B To0BNRD FRLONYRY, BRoQTI[OY, .

TR TN B WeRIZNTONES.

Eyplevel)

RAB[AFNYY, 3nedpgodn

(2)
6))

(4)

£90TBOEAONHD

(2) Rl vlevin

3

4)

28TIEIRD BRTETIT 2,003
(1) =Fzood

(2) ©oRONT WIedd

(3)  WedoTFo0w

(4) @o003e3
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136.

137.

138.

139.

140.

141.

The correct order of N-compounds in its

decreasing order of oxidation states is
(1) HNOg, NO, N,, NH,Cl
(2) HNOgz, NO, NH,CI, Ny
(3) NH,CI, Ny, NO, HNOg4
(4) HNOgz, NH/CI, NO, N,

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

3) B<Ga<Al<In<Tl

4) B<Ga<Al<Tl<In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Fe

(2) Zn

3) Cu

(4) Mg

Which one of the following elements is unable to
form MFG3 “ion?

(1)
(2)
(3)
4) B

Ga
Al

In

Which of the following statements is not true for
halogens ?

(D
(2)
3

All form monobasic oxyacids.
All are oxidizing agents.

Chlorine has the
enthalpy.

highest electron-gain

(4)

All but fluorine show positive oxidation
states.

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
3
(4)

one
two
three

four

136.

137.

138.

139.

140.

141.

Feinews (N) Bpotds Boodgndd N & cugRr o &
RFQOD 29F03 TOIRT BoR)

(1) HNO,, NO, N,, NH,CI

(2) HNOg, NO, NH,CI, N,

(3) NH,CI, Ny, NO, HNOj

(4) HNOg, NH,CI, NO, N,

R 13 8 poBondd Ho=mnend R I0CINT 330
(1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

(3) B<Ga<Al<In<Tl

(4) B<Ga<Al<Tl<In

NJlelgtreg WBBI), ToR, FINTCRT  SReET
RBODOOT WORDITITIR, WTIXE FWTBIT)

(1) Fe

(2) Zn

3) Cu

(4) Mg

S9NS iR woth @ MFS  wotnas) SREeo
AT FNTD

1) Ga

(2) Al

(3)
4) B

In

T, EREBRTTNRY I FINT 0IRE Bewdodd I TN,
(1) SRR HBTBTYR, B8 BRI SRETS.
(2) 2P m%ﬁriﬂbr{@o.

(3)
(4)

3R50T HUTT DSTYT TR L0TITBRONT.
BROT TRTUBDTRR QPP FIIZ YVSRF
RGO, Be0TTS.

CIF3 T30, deod, @=SmBmead ‘Cl Roed a3
QETRT 20L3000TNRT Foad 0%

2,0T30

SNl

DR

o

(D
(2)
3
(4)
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142,

143.

144.

145.

146.

The difference between amylose and amylopectin

is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylose have 1—54 o-linkage and
1 — 6 B-linkage

(3) Amylose is made up of glucose and
galactose

(4) Amylopectin have 1 — 4 o-linkage and

1 — 6 B-linkage
Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) They contain covalent bonds
various linear polymer chains.

between
(2) They are formed from bi- and tri-functional
monomers.

3

They contain strong covalent bonds in their
polymer chains.

(4)

Examples are bakelite and melamine.

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1) 14

(2) 30

(3) 44

4) 28

Which of the following oxides is most acidic in
nature ?

(1) MgO
(2) BeO
3) CaO
(4) BaO

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1)

In spite of substituents nitro group always
goes to only m-position.

(2) reactions

In electrophilic substitution
amino group is meta directive.

3

In acidic (strong) medium aniline is present
as anilinium ion.

(4)

In absence of substituents nitro group
always goes to m-position.

142.

143.

144.

145.

146.

SRR 0B W), URETBET Y FBRONT YRR

(1) eREraERTndd 1 - 4 a-wogd S 1 - 6
oc-wodddaeL BRODT

e 1 - 4 a-wog @ 1 - 6
B-wotﬁdo&lmo@d

W SR, n@gnew =3y RedRnven
rcfevtpiontain]

@Qeﬁma’iﬁﬁ% 1 > 4 ooz 1 - 6
B-wotﬁdo&lmo@d

@8 ERCBROD WHFONT) WG PUTRT WHFINY
B0 WOOOT TEPINLE) CIRYTD TOOIRAL)

(1) aRYNSYOD A0G Teaheod BT ITLING TR
T® B003RC%T LOBNYR.

[RNIR), 0 B2 F3eadd 808P MOOXT DFVE0
(BRBpeDT ) RPOT SCINOT.

wRYE  (DRTT)  ATEnY g,
RBYRNWOBNRER) BRODS.

(4) WWFGEF, BOCOT R YUTRTTHBNGINGS.
2:3 g DT @) 08 45 g wndT oms
Q0BT B Rogzemytieodnt (HeSO4) Heoren,
WBRBERME 0 Ww3eensy KOH wgnd e
0008 PNG STP od&, Q3T GEIT BR8) Mo BY,

1 14
(2) 30
3) 44
4) 28
&ra@idod &3 TNRYY BN @B 08 ©aeodd mmgg

R0

(1) MgO
(2) BeO

3) CaO

(4) BaO

BRO R, BRFPTOBY, BROTR) Fee30e 1evamen
BoeR-F R BT BREIRI T00P)

(1) =868, mOoRRY> Qe Feine Moox) cdRmener
Dot -FE Teengs.

e AEWRT  BEATI®
welyRee RHoFY Boe ATer8TeNT.
DO &, a’mcé@bdtl 0T,  LDV0NTT®
©90SRTON ATVIT.

sBeg, MOoRNY  WDTAGOPY, FEine

; RlS)
CRRLR Bew ATE ST,

(2)
3

(4)

(2)

(3) 33500

©) Bes00nYE,
3)

(4) nooR
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147.

148.

149.

150.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, CyHy, CoH5CI

(3) C,H5OH, C,H;ONa, C,H;Cl

(4) CyHyCl, CoHg, CoH;OH

(A) by
substitution to form an alkyl bromide which by
Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine

reaction is converted to gaseous

atoms. (A) is
(1)
(2)

CH=CH

CH, = CH,
(3) CH4
(4) CHs;-CHg

The

reactions :

compound C;Hg undergoes the following

3 Clz/A BI'z/Fe Zn / HC1
A B

C-,Hg C
The product ‘C’ is

(1)
(2)
(3)

(4)

m-bromotoluene
o-bromotoluene
p-bromotoluene

3-bromo-2,4,6-trichlorotoluene

Which oxide of nitrogen is not a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyOj4

(2) NOgy
NO

N,O

3
4)

147.

148.

149.

150.

A Q0w Fooogy AeeRoddo Na drodnt @8Fa B @02y
PCl; Zpodrt S8ra C o) 3eE0gds. B o=y C i
TORT BEFR FAFe' Q@O 3RS, FWowen A, B
33 C Asd

(1) C,H5OH, CyHg, CoH5Cl

(2) C,H5OH, C,H,Cl, C,H;ONa

(4) C,H;Cl, CyHg, C,H;OH

2,000 FRR/HPWFT (A), RS wed widd &
3oDboDY, 8¢ & WRFHE SRR AT RS
8030009, T, (4) TWFBNOZ FRBO QUNI %ot WAL
TR CFWF D" WRINBERRERIT). TGS (A) 03

(1) CH=CH

(2) CH,=CH,
(3) CH,

(4) CH;- CHj

C7Hg 70c32035y) @00008 Ra0eFTEITE) WITSAMITTO
3Cly/A  Bryg/Fe _ Zn/HCI
A B C

7Hg
aQ,ev8gcdnndes ‘C’ 03w
(D
(2)
(3)
(4)

m-UWReBRe ERORT

0-BRHRE LORT®

P-BR [N RURT

3-2&@@?;@@-2,4,6-@%6@@6@ EPORT
FLPRBTNCRR 30BY TRTES 23TFOW0T m@ddm%

e Fnewy ©F @YY IR ITwEN
BROZFTERY?

(D
(2)

Ny,O5
NO,

NO
N,0

3)
4)
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151. Which of the following molecules represents the |151. 3¢NS @ondd cInysd 30N BT OB

order of hybridisation spz, spz, sp, sp from left to TIRENSE), sp?, sp?, sp, sp RoBOETERTT
right atoms ? BEAHRORD

(1) HC=C-C=CH (1) HC=C-C=CH

(2) CHy=CH-C=CH (2) CHy,=CH-C=CH
(3) CH3-CH=CH-CHg; (3) CHz-CH =CH - CHj
(4) CHy;=CH-CH=CH, (4) CHy=CH-CH=CH,

152. Which of the following carbocations is expected to | 192 ERUTOR  TIRFRET  CoIRENYY, cIRFEd B
be most stable ? R TB0T0 LOFRWBITINT

NO,

NO,
@ Q
Y H
Ez

NO,
o O @

Y H Y H
NO,
. NO, I
(3)
(3) Y>!in Y !in
NO
NO, 2
(4)
@ g H <
Y © Y
153. N «degnd -1 o weegdson d@mdoéﬁ
153. Which of the following is correct with respect to Boe008TE03 TOIRT 6303%0133 (R= Qﬁ@w@s)
— I effect of the substituents ? (R = alkyl)
(1) —-NHy<-OR<-F (1) -NHy;<-OR<-F
(2) _NR2<—OR<—F (2) —NR2<—OR<—F
(3 —NRy>-OR>-F (3 —-NRy>-OR>-F
(4) -NHy;>-OR>-F (40 -NHy;>-OR>-F
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154. In the reaction

155.

156.

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

®
(1) dichloromethyl cation (CHCl5)

S)

(2) formyl cation (CHO )

(3) dichlorocarbene (:CCl,)

S]
(4) dichloromethyl anion (CHCly)

Carboxylic acids have higher boiling points than
aldehydes, and of
comparable molecular mass. It is due to their

(D
(2)
(3)
(4)

ketones even alcohols

formation of intramolecular H-bonding
formation of carboxylate ion
formation of intermolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

Compound A, CgH,(0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

~{ - CH, - OH and I,
¢ )~ CH, - CH, - OH and 1,

(1) HsC

(2)

(3)

4)

154. 33 BQ0FTLTYO0D BT F00I0

155.

156.

OH O Nat

@ + CHCly + NaOH ———> @ CHO

(1) dgdne 6@&363@*‘?@@3@055@59(CHCI

(2) WHFS DEIRT (CHO )

(3)  girgamners (:CCly)
©

(4) BBERCRWFS® & Sosna’ (CHCly)

wdFE R ey T SUADIS AN

WRFIOE SRRl BomIERE  ©roted

TRODTTR BRR FUPFIPT SRy TuF BoH0I0B

WOTDB), TPoHT 590D

(1) ©083c98 H 2057 00tmnommd

(2)  FRFESess BoIRT® QUM

(3)  o¥ 698 H 20053meh e00emnosmtd

(4) TTRETT ST SFRFFBOD WONOT TOUWF DT
SO BT DF08 ROoBRTRITTO

CgH1p0 @ow A Foodwgm) (Y =08 NaOH) Qow

800n033 NaOl Ieocdd  Jéea
é)éa’%mﬁﬁojw%i @wmgw@mmm@m
A Y neh 3zdaen

H3C _©_ CH2 - OH méﬁ 12
{ - CH,-CH, - OH =3 I,

CH,

3) CH, G OH =3 I,
{ M- cH-CHy 2% 1,
|
OH

T W3
£

(1)

(2)

(4)
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157. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AICl,
@ + CH3CH,CH,Cl ——3—»

(i) 0,

i Q +R

(i1) H3O*/A
P Q R
CH,CH,CH;  CHO
CH,CH,CH; ~CHO  COOH

HelNsNe
OH
CH(CH,),
(3) @ CH; - CO — CHj

CH(CHy),

OH
@ CH3CH(OH)CH,4

4)

158. Which of the following compounds can form a

zwitterion ?
(1) Aniline
(2)
(3)

4)

Acetanilide
Glycine

Benzoic acid

157. S000x  FA0esSed  ITEIONG,  (FerdoDdQ)  BEsved
Wsﬁﬁ%d P, Q =53 R s.l (rbdo:%%) BorEHROWD

g

QRO
AlClg

+ CH3CH,CH,Cl —————>
@ O,

———>Q+R
(i) Hz0*/A

P Q R
CH,CH,CH; CHO

1) CH,CH, - OH
CH,CH,CH; CHO  COOH

00 0.0
OH
CH(CHy),
3) @ CH; - CO — CHy

CH(CHy,),

OH
@ CH5CH(OH)CH,

158. 3 ©o00QT FocINSY cIneYd z?zé%jd £20359TN
TRTE BT

4)

(1)  e0%°

(2) @mszaegw

3) B

(4)  Wowoons® Wy,
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159.

160.

161.

162.

163.

For the redox reaction
MnO; +Cy0%” + H' —— Mn® + CO, + Hy0

the correct coefficients of the reactants for the
balanced equation are

MnO, C,07~ H'
(1) 16 5 2
2) 2 5 16
3 5 16 2
4) 2 16 5

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay(g) +By(g) = Xo(g) AH=-XkJ?
(1) Low temperature and high pressure
(2)
(3)

4)

Low temperature and low pressure
High temperature and low pressure

High temperature and high pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1is halved
(2) is doubled
(3) remains unchanged

(4) is tripled

The correction factor ‘a’ to the ideal gas equation
corresponds to

o)
(2)
3

density of the gas molecules
volume of the gas molecules

forces of attraction between the
molecules

gas

(4)

electric field present between the gas
molecules

The bond dissociation energies of X,, Yo and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol™’. The bond dissociation
energy of X, will be

(1) 200 kJ mol*
(2) 100 kJ mol*
(3) 400 kJ mol ™!
(4) 800 kJ mol ™!

159.

160.

161.

162.

163.

3300 ST, (VIR €9 WTTRF £9) 80300

MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

AoDusReod  RROECHBOH  BEYINTITING
RomR08RYd
MnO; C,07- H'
(1) 16 5 2
2 2 5 16
3 5 16 2
(O 16 5

3PN O RGOID FRLITOR BRETTLTY, NOT, BRPET
YV SOIRTINLD LROBROWIMIRT

Ay (g2 +By(g = Xy(g) AH=-XkJ?
3R oW WP T .33

FRR) TV RO TRRO W3R

(3) o o =3 RN 1BB

(4)  rom 2o &2 BT W

BEFITINRY 808 ATZODR) Qrides RPATT, Ao
INFT 2,38,03003 Lo CINBIES (e;acjr @d@) )

(1)  eprmnR)Ed

(2)  QROEINIREd

3)  WTRNB BROTITO

(4)  Botdmes) SO

BRT0  @ROT  FWEBTHTYD  STBR  1oE ‘@’
Eernplnlevorialebrnine)

(1)
(2)

(D
(2)

ERGECIoMapldntcloved
@O BN MZTY)
(3) R @rond SENT SFRFBOD WON

(4) =00 wrnY FRNT ATT FBH)
Xy, Yo 03y XY n¢ 988 wog Qdodeens 33odn

gRomen 1: 0-5 : 1 ovm3sez, XY 3 oum el
AH 3 — 200 kJ mol™ =338 X, O3 203 Qodeexd
33030

200 kJ mol !

100 kJ mol

400 kJ mol !

800 kJ mol !

o))
(2)
3
4)
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164.

165.

166.

167.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 252 2p3, the simplest
formula for this compound is

(1) MgyXs

(4) MgyX

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

J2

43
3V2
1

3 3

33
442

Consider the following species :

CN*, CN7, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN~
(3) CN

(4) CNT

Which one is a wrong statement ?

(1)

(D

(2)

(4)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) An orbital is designated by three quantum
numbers while an electron in an atom is

designated by four quantum numbers.

3

The value of m for dzz is zero.

(4) 'The electronic configuration of N atom is
252 2Py 2Py 2P,

Pt L

152

ty

164.

165.

166.

167.

Bonpodo, (X) 200 TRDZRODT BEFA  LOIRIT
Roos0gmRY, BR@EH, (X) 8 @eRd HUHRT NI
1s? 252 2p? =53 Boc3083 IS BRI

(1) MgyXs

2 MgX,

(3) MggX,

4) MgX

B9y BREBOD THTZQ, bee 50 FeolT TF0IRY
EReoR. 900°C Nog FuE I, fee Bood
3eoR2 TEI0INN CRTWOZTRRTOZT. BREH 0T =0
900°C & ZoBMYE, 3YFoT WOBIOD SRR (303
BReeRT® 00O WBY TJOBMED FRND oIS e
P&dmmﬂ Q0TI mmﬁzﬁeﬁo)

J3
J2
43
3v2
1

6)) 0

4) ﬂ
442
QWNSE,
CN*, CN~, NO 2533 CN
CIRTTE B WoFED (WoR Hog) O
(1) NO
(2) CN~
(3) CN
(4) CN*
FINTINIE BT 2,000 FePFOXD

(D

(2)

(1) e, 338 Bpedeodd @aheney) 2.0t @6@§ﬁ ‘s’
380, AR BR0TONGS.

wOTD  FFER WA TPURT  Zogneos
RRWAOLT WrDTYTB LoD ICTF LY
FOURT BoBNYon BRETVRITTO.

d,2 ™ m 3 BPYF) ARFoIRNG.

N ZOBRe00S8 5T DTAD)

(2)

3
4)

252 20y 2py 2p,

tol (ML

152

e
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168.

169.

170.

171.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on

reactant concentrations

the half-life of a first-order reaction does not
depend on [A],; the halflife of a

second-order reaction does depend on [A],

(2)

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

3

4)

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water
(2) 0-18 g of water

3
4)

1072 mol of water

0-00224 L of water vapours at 1 atm and
273 K

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) BeH, < CaH, <BaH,
(2) CaH, < BeH, <BaH,
(3) BaH, < BeH, < CaH,
(4) BeH, < BaH, < CaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as

shown in the diagram below :
- 182V — 15V
BrOy, — BrO3 ——> HBrO

Br Br,

%
1-0652 V 1595V

Then the species undergoing disproportionation
is

(1)
(2)
3
(4)

Brog
BrO;
HBrO
Bry

168.

169.

170.

171.

DED SRR Wy Qgecd §oIRIRF AnoesSEne
=03 Rocing AR

(1) IR0 303w JINFT FTY 3CRTOTTING FWoed
USTOOWTTNGY;  QPEOD  FOININFT  FTI)
$,00RTITBNS FOTIORD 06 ©m©0WSTINT

BF FoIRINFE @GF 9[HID [Aly 8 Soed
CTOOWSTTNG,;  DIOL  §OIR[NET

wRnoRn [Al) Hoed wEwoRgmNG

BPR FOSRTJRFT O §OSNTITING FTINT
B0eS BFOoWBTNY; QIOD FOININFT TR
$,0309%908ME FTS0D W00 BRLoOWITNG,

IED  JOINIRFS B0, BINREFERT

(2)
Cnt

3

4)

BODONT,  [HFS IRBUWIOB; QD
fewsevatant 30300308 30IRTHEIOOT
3,03FOFILD TGN

3INS 0IRFYBOY, NOF Bos3 08 VO LenTR, BRoOT

(1) 18mL 50"3% Qedd

(2) 018 g ==, dedd

(3) 1073 Speeram), Aedd

(4) 1 atm 3033 273 K 39 evoees 0-:00224 L 5&;
Q003 3

CaH,, BeH,, BaH,

39

(1)

(2)

N$E) ©0INAT MOT FOCINT

BeH, < CaH, < BaH,
CaH, < BeH,; < BaH,
(3) BaH, < BeH, < CaH,
(4) BeH, < BaH, < CaH,
WRWTS GUIRF D RGODTNT FFo3R 23eT 3ed emf

djae%srﬁ@:)ﬁ FoTHROIPN B3 3SR ST

- 182V _ 15V
BrOy — BrO3 —— HBrO

Br <Toeszv B2 “1he5v
TMTT FPNIYNSE), 9730 0IRIT LRI IR
(1)
(2)
3)
4)

Brog
BrO;
HBrO
BI'2
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172.

173.

174.

175.

The solubility of BaSO, in water is
2:42x107°% gL' at 298 K. The value of its
solubility product (Kg;) will be

(Given molar mass of BaSO, =233 g mol ™)

1-08 x 10719 mo1? 1.2
2

(D
(2)
3
4)

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

1-:08 x 10 2 mol® L™
1-08 x 108 mol2 L2
1-08 x 10" mol® 1.2

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?

1 b

(2) a

3) ¢

4) d

On which of the following properties does the
coagulating power of an ion depend ?

(1)

The magnitude of the charge on the ion
alone

(2) Size of the ion alone
(3)

(4)

The sign of charge on the ion alone
Both magnitude and sign of the charge on
the ion

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NHj4

(2) H,

(3) COq

(4)  Og

172.

173.

174.

175.

298 K 3¢9 BaSO, = 2de3030 242 x 1073 gL
=3 eI oy (Kyy) B SR
(B208 : weoEes BaSO, =233 g mol‘l)

1-08 x 10719 mol% 1.2

1-08 x 10712 mol® L2

(3) 108x107° mol? 1,2

(4) 108x 10 * mol®> L2

NS mRBeRYR) Q07 FITOBRE (R3) AYY R
203 WERee, NaOH 202y HCI Ay 203 3na
BC3R0REONT

(D
(2)

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

BoeOTYNTY, 0dn=m3 pH 20538 Bomoncs

1 b

(2) a

3) ¢

4) d

SOIRAT ROBRERN Jgodd FINT 0IeR Moed 5w
TPOTY WBOOWBIINT

(1) 20InRd8 Boeds Be3T TIRED SRS,
(2) 03T o8, BRT,

(3) 2R Roeds B3 wE [N

(4)  ©oIRAR BoedT 3B B SEHeBT BRBED [N
NS cRondd, oInRTI), w8 ZS¥een
TR EFORWBOTINT

(B2R08MW 1 T BeTT T T VOeFN NH,,
H,, 0, 083 CO, ner 3xomon 4:17, 0244, 1-36
3% 3-59 23)

(1) NHj

2 H,

(3) CO,

(4) Oy
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176.

171.

178.

179.

180.

Iron carbonyl, Fe(CO)jy is

(D
(2)
3
4)

tetranuclear
mononuclear
dinuclear

trinuclear

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1)
(2)
(3)
(4)

Geometrical isomerism
Coordination isomerism
Linkage isomerism

Ionization isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

2—

1) Cro]

2 Cr,0F

2
(3) MnO}

(4)  MnO,

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1)
(2)
(3)
(4)

square planar geometry and diamagnetic
tetrahedral geometry and diamagnetic
tetrahedral geometry and paramagnetic

square planar geometry and paramagnetic

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column IT and assign the correct code :

Column I Column IT
Co®* i. 8 BM.
b.  Crt ii. /35 B.M.
c. T iii. V3 B.M.
d. Ni%* iv. J/24 B.M.
V. \/ﬁ B.M.
a b c d
1) v v ii i
2) i i iii iv
(3) iii v i ii
4) iv i ii iii

176.

177.

178.

179.

180.

350 5dRr e Fe(CO)5 tomd
(1) o83or gus

(2) o8 s
(3) oyws
@) & yus

Rogerarsy  [CoCly(en),]
BT

(1) =08ecd TRPond
@) R0 ARmors
(3) BrokdIZRONS

(4) 0398 I=PONS

FINT 00093 0T 0E08¢00E 3033 d-d ToBEmoes
OB, BWOFAZS

1) Ccroy
2

Cry02~
(3) MnO%
(4) MnO,
B Rodeear s
SRBOTEFOI
(1) Sne IROBO 233,008 3083 BOIRFT0ZE0
(2)  R0edROR S3es TTFF (23R0F D¢ )
B BO3RT03e0
R30320%, &S TTF TR0 Y
TTIF08CC
B[AF DB 08 RT3 TTT0SECD

B o33 ARRoeL,

[Ni(CO)yl 08 =02y soodecd

3

4)

00 I 39 Seeas @omsme;s% Z’De&adad oo II 39
WRINY BOWROEd T208e0) WRTYTBOINRY, 3RS Foowmi

EpeRT é@edﬁg{@oﬂ%drm :
o0l soeoll
a.  Cot i. 8 BM.
b. Cr’t ii. /35 B.M.
c. Fe3* iii. /3 B.M.
d. Ni%* iv. 24 BM.
V. \/ﬁ B.M.
a b c d
1) v v i i
@) i i iii iv
(3) i v i i
4) iv i i iii
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Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

S00DT AR TR RN N0

1.

BoedpoEdd Fe9nT  wylfrodn BRI BSII),
BreoReie.

cdncie P HFodn BoedeRdssd wan el 35’9}{
RINR0T DT,

WPHFODd ©nT WZS TEFONY  HoedpsTEon
QeT3T TOegD BREBOWOT TBRTIREMITOEY, TITE
RICY, 2T WO o SeEde  @geF
TRTBREMT0EY, ITWRE Wod T SRBE WL HFOIND
PUZT B F AR D0 TONLITRNIZH. Tone WIS

B RFO0 FoeS BT %me%mm@c:b

DETIT [BRFRFTET 0T IR AR
ANT.

el IR folol<leve{ SIS iRt es SURIIING R G It Jovs)
QODNIR), BBBe  TOFWeBd. DO 0TI
@I HFNY 30eS VO BB AO0L,ET BFIT Fa3d
$riedoardR)cd.

cIRte TTTR B WA WOTFST [Ty QT
BYIoH  cIn)Te mﬁdaﬁ.}* o3n)Ie mds@ﬁr%
BOOIVTOS),

PRI HFOI0 FO0IRT &ég WOT S Bew® e_-agbq &é’g
TS (V80 WEFCDE, JeRTIT  0edcEdoe
TowTE WRTTE) wiodededd.
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